Anx B - Work Completion Report

Company	M C Modi Eduacational Trust		Name of contractor	T.Kurmanna		Sl. No. site	e bills reg.	507						
Project/site	MCMET		Nature of work	Chipping & Debries Removing		Dt. site bills reg.		22-11-2025						
Block no.	CA		Work done from date	12-11-2025		1								
	CA		Work done to date	20-11-2025				1						
WO no.		Contractor bill no.	GST bill required?											
WO date					Qty	Units Rate ID		Rate	Amount					
SI. No.	Unit/floor no		Details of work	-	Qij	Cints	7,110,72							
	MCMET				703.63	cft	TF227	2.00	1,407					
1	Ground to 1st floor Ramp	Existing tiles chipping					TF228	-						
		Chipping tiles removing			703.63		TF227	-	2.00 1,407 2.00 1,407 2.00 1,407 2.00 1,407					
	Ground to 1st floor Ramp	Debries chipping			703.63 sft			-						
		Debies/mortar removing w	ork		703.63	sft	TF228	2.00	1,40					
							-	-						
								-						
								-						
							,							
									,					
					Tot	al amount	including taxes	for work done	5,629					
Kemarks:	APPROVED BY		Approved by QS team			Approved b	y Director/E&D	team						
pproved by project manager		Approved by QB team			Sign:									
ign:	125				Date:									
Date:	-E 11/0 / 2020	Use this form even if work order	s not issued 4 Attach me	easurement and est	imate sheets on	ly if required i.e., detail	s cannot be entered at	ove. 5. For bill						
otes: 1. This she mount greater tha achin (for Vivopo	et replaces installation report and adapted to MARRO contractors. In 10k QS manager and BERTO SPORTING TO MARRO SEEF BILL olis), B. anand Kumar (for NGH + NACAMET http://of.eate.110.isr	amount less than 10k any QS team mandatory. 9. This sheet must be sent	nember may sign and in place of d within 2 working days of work of	rector sign of respective lampletion (with or without	E&D member to be t contractors bill).	taken. 7. Dire	ctor include - Soham, A	nand Mehta (for GH f bill to site and QS b	r + GMR), y email. 11.					
ontractors must	submit original bills at HO (can be sent by courier).													

MEASUREMENT SHEET										
Company Name: Manilal Modi Memorial		Manilal Modi Memorial	Approved by:		Sai kumar Reddy					
Project: MC		MCMET		Sign:						
Work Description:		Chiiping& Debries Removing		Work start date:		12-11-2025				
Contractor:		T.Kurmanna		Work end date:		20-11-2025				
Prepared By:		K.Praveen		Date:		22-11-2025				
			A	В	C	D	E=AxBxCxD	F	G= Sum of F	
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	units	Item Head Total	
	MCMET									
1	Ground to 1st floor Ramp	Existing tiles chipping	108.25	6.50	1.00	1.00	703.63	sft		
		Chipping tiles removing	108.25	6.50	1.00	1.00	703.63	sft		
а	Ground to 1st floor Ramp	Debries chipping	108.25	6.50	1.00	1.00	703.63	sft		
		Debies/morter removing work	108.25	6.50	1.00	1.00	703.63	sft		

ESTIMATE SHEET						Approved B	y	
Company Name:	Manilal Modi Memorial					Sai kumar		
Project:	MCMET							
Work Description:	Chiiping& Debries Removin	ng						
Prepared By	Praveen.K							
Bill Date:	22-11-2025							-
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
	MCMET							
1	Ground to 1st floor Ramp	Existing tiles chipping	703.63	sft	2.00	1407.25		
		Chipping tiles removing	703.63	sft	2.00	1407.25		
a	Ground to 1st floor Ramp	Debries chipping	703.63	sft	2.00	1407.25		
		Debies/mortar removing work	703.63	sft	2.00	1407.25		
							5,629.00	

Labour Charges T.Kurmanna MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Chipping, Debries removing

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of work:	Towards chipping and debries removing	
	work		2,251.60
	Total amount:	5,629.00	

Amount in words: Two thousand two hundred fifty one rupees only/-

Allowance For Consumables T.Kurmanna MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Chipping, Debries removing

Towards

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	: Towards chipping and debries removing	
	work		1,125.80
	Total amount:	5,629.00	

Amount in Words: One thousand one hundred twenty five rupees only/-

Allowance For Equipment T.Kurmanna MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Chipping, Debries removing

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work:	Towards chipping and debries removing	2,251.60
	Total amount:	5,629.00	

Amount in Word: Two thousand two hundred fifty one rupees only/-